THTFERBEEARFRZER (T 1)

EREEL AH E i) AR B
VT hTF=%  |$Bl6,/1~6,2 IETHHEELAREERS | (A3 2) (OGN
2 [mlEk M 2 — 1 EhESE EWEENE - R (Am) X7 2—4
3 ik A 0 —2 HALFERE [k - FBF OREREE)
#(6,/1~6,3 MBTRE LA (2 [FH AE 1—2 B | (2 EREOR) MAHIRAL « FHERsk T
(1 [EUGE) EESE - AATDIAE~T
N2y hR—|B6,1 o TR 1EE fAH — ils
% 47 — 86
|6, 1R g —
NL—FR—  |Hl61 “ARBAIRERE 10 fAH 2 — o0&l
2 Al MO0 — 2flie B
| B2 K32
w6/ 1[EE AE0—2 ieEK
Pl — A
NRIvhy | BEA <IN > (A h8) | A
5,24 ~ 5,/25 | EIRIHAGHE 1[EE fAH 3—0 &AWERE| 3B MEEA - TR,
Bi[ZN < [T > 2 [mEk A 3—2 G TEEPY - e E,
6,/1~6/2 LETRERE 3@k AH 3—0 ReEl RN - ARERE
4 Al AE 1-3 iib= Q1 [El) g - R
@) Vi
(3 1ElHE) AMEFH
(21afg) (B
(1 1EE) HhmAA, AT
AN <{E > =TyS) 57 WA
5,/24~5,/25 |'EWEHAEEE 1Ak AH3—2 AHEIK | (XA b 64) KHEAEE - $sAFL~T
[ < [ > o [FHk A 1—3 T
6,/1~6,2 LETRERE (1 a0 BrRSss - #0727
OHpsEt - ST
I N=ER i
YT VA
(A b 64) KHRKE
(21ag) $aABidk:
Q1 IEpg) Brisess 49 tife




(£D2)

THTEERBESARFRZER
B}

EEBA | A % th | [E A
Rz F-iiHt B |5,/24~27 100m VERREER - ZEHaES - JUCBEA (TiloR)
200m PEREERH - FEHEEA - JCBIEE (TAEGE)
800m EE FE (MERPREH) - BaEREE (EIGR)
1500m A3 K (FEGR)
400mH PR (EpsER) - RIS (TERGR)
RS PSS - R (TEGR)
4X100mR J\EAFIL « VIR A« (ot - oiasin
] 4X400mR  FERRIAK « KI5 - IPVRE - RN (TEGR)
4|5,/ ~ HiE
ERER 5 e e
4| 61 SR AER AR s A > 7R
1A —
2[nlk  —
FlhE Bl6,/1~6,3 H5d BAEAN « AH
1Ekg < A5H @Bdb —A&T
BTEN - T
1EEE s EH @E=8) —ARaT
L6,/ 1~6,/3 Ty —2 LEA - FIL
OmIERE 0—2 A|1EME & 8K (BEAHD AWML
53 2R 3t HE G —AAT
i 4mdk 0—4 AlLTEA - &
o 1AM xF BRSO —ARET
Tgk ) — 7RG
iE Hi6,1~3 IR =5EY Fi% 51/80 i, 5/8 PR
YU — R AL |TEERES) 6/8 TiskimiE, P
P 15/20 H1, [RS4SR 4
| IR 3/8 TG
%161 = EY TRt 14/40 TREHCR G
ZeFiE 715,731 AHTReARERE HEd HEES
~6,2
45,731 TR A SR AT TELA
~6,/2 1[EE A2 —3{Ih] A L8) 24 BT

i)

1[AHHROR  24F  4gHhig « fE
(EPNGES

(RAR16) 34 HHEE

24 WRIRITEY

2GR 24 (LREEE

24F Kl 4 fE




